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ENGLISH VERSION

Instructions : (1) Figures to the right indicate marks.
(2) Show necessary calculations as a part of the
answer.

(3) Write answer of any four questions.

1 Vivan company needs a generator costing Rs. 5,00,000. For 17.5

this purpose the company has the following two options.

Option I : Buying the generator by taking loan of Rs.
5,00,000 repayable in five equal instalments
of Rs. 1,00,000 each along with interest at the

rate of 15% per annum.

Option II : Leasing the generator for which annualize
least rent is Rs. 1,50,000 upto five years. The
lessee charges one percent (1%) of the cost of
generator as processing fees in the first year.

As a tax consultant advice the company management

which option should be accepted ? Additional information is

following :

(1) Corporate tax rate 1s 30% and education cell is 3%.

(2) Present value of Re. 1 for five years is as follows :

Year 1 2 3 4 5

P.V. 0.909 | 0.826 | 0.751 | 0.683 | 0.621

(3) Rate of depreciation is 25%.
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2  Shyam Company Ltd. manufactures “Computer Game”. 17.5

For required components “XYZ” of computer game company

has the options to either make or buy from the market. The

following details are available in this reference.

ey

)
3)
4)
()

The component “XYZ” will be manufacture on new

machinery costing Rs. 10,00,000. Life of machinery is

10 years.

Depreciation rate is 25% on written down value.

Income tax rate is 30%.

Discount rate is 10%.

Other details for production :

@) Every year company makes 50,000 components

and for this total material required 2,50,000 kg.

Material cost is Rs. 20 per kg.

@) Total labour hours are required 2,50,000. Labour

charge is Rs. 1.85 per hour.

@ Forman’s salary Rs. 1,00,000 per month.

@) Other variable overheads Rs. 70,000 per month

This component “XYZ” is available in the market at Rs. 165.

From the above particulars give your advice to the company

whether to purchase the component from the market or to

manufacture?

Present value factor at 10% discount rate is follow :

Year 1 2 3 4 5 6 7 8 9 10
P.V. 10909 (0826 ]0.751 10683 [0.621 |0.564 [0.513 | 0467 [ 0.424 | 0.386
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3  From the following information of Rajvi Company, 17.5
determine tax responsibility of the company.

Amount credited to Profit and Loss Account :
Net Profit of the New Industrial Rs.
Association under new section 801 A ........... 22,00,000
Gross Profit of the New Industrial Association
under Section —10 ...t 10,00,000
(Tax Exempt Rs. 9,00,000)
Long term profit ..........oooooviiiiiiiiiiiiiiiiiieieeeeeeeeeeeeeeee, 4,00,000
Amount debited to Profit and Loss Account :
New Industrial Association expenses for U/S 10 ...... 8,00,000
Depreciation of Previous year
written off in current year ...............ccccccuuunnnnnnn 8,00,000

Business loss of Previous Year

written off in current year ...............cccccuuunnne. 10,00,000
Current year depreciation ...............cccceeeeevvvunneeennnnn. 12,00,000
Penalties for breach of the law .....ccoovvvveieiiiinii. 1,00,000
Provision for sales tax ........oooooeeeeeeeeeeeeeeeee e 2,00,000
Proposed dividend ............coooiimiiiiii 3,00,000

Additional Information :
(1) Admissible depreciation Rs. 19,50,000

(2) Net profit of profit and loss account prepared by the
company Rs. 18,00,000

(3) Do not carry forward loss and unabsorbed depreciation.
(4) Income tax rate 30%, and education cess is 3%.

(5) For the calculation of Minimum Alternative Tax (M.A.T.)
rate of income tax is 18.5%, Education Cess is 3% and
book profit is Rs. 30,00,000
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4  Shivay Company Ltd. is a widely held company. The 17.5
company requires Rs. 50,00,000 for to develop its business.

This amount can be received from the following :

Particulars Option-1 | Option-2 | Option-3
Rs. Rs. Rs.
Equity shares 50,00,000 | 20,00,000 | 20,00,000
14% Debentures - 20,00,000 | 15,00,000
15% Loan - 10,00,000 | 15,00,000

Expected Profit before tax is 25%. The average past rate of
dividend paid is 20%. Income tax — 30% and Surcharge —
3% and tax on dividend — 20.358%. Which is the best option ?

5 What is Minimum Alternative Tax ? Explain Minimum  17.5

Alternative Tax with an example in detail.

6  Write notes :
(1) Residential Status of the company. 9
(2) Explain the Taxability of Dividend. 8.5

7  Write a detailed note on Corporate Tax Structure and 17.5
Tax Authorities.

8  Discuss the techniques of Corporate Tax Planning and 17.5

its advantages.
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